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HEGEES FERE AT AT1| 3 |AO1| 30 |AO7| 12 |AO1| 30 |AOT]| 30 |AO3| 20 |A09| 8 |AT0| 6 139
2[R LA SRR EE A A06| 21 |AO5| 16 |A01| 30 [A07| 12 79
3[R BA SRR RE AR A12] 3 [A07| 12 [B15] 2 BO1| 20 [A02| 24 A08[ 10 71
1 |[F =B HAKRE BO1| 20 |A02| 24 A12| 2 |AO5| 16 62
5 [IE —i iR AT A01[ 30 [AO1] 30 60
6 2 =@ FRAF AT2| 2 A02| 24 [A01| 30 |A13] 2 58
7 |FE ke FRAF A08| 10 [A06| 14 A02| 24 48
8 [[NATR BT A AT AO02| 24 [A06| 14 |A09| 8 46
8 |[EE = FRAF AT3| 2 B02| 16 [B02| 16 |A07| 12 46
10 [£W_ A BARE AT A01| 45 a5
11 = BA BAGRE AT A04| 27 AT0] 6 |A08| 10 43
2 [BEH ==& BHAKRT COo1[ 2 [BO1[ 20 A03[ 20 42
12 [RJT_8hzs T FRAT B10| 4 AO02| 24 [A06| 14 42
2[R En T aAT AO02| 24 [A04| 18 42
15 [fRK BT HAKRE A02| 24 |A05| 16 40
15 [FE % B AT A03| 20 [A03| 20 40
7 [7IL—F 5 ) X BAI|BIH KF A02| 36 36
17 [EH Bl T FRAT BO3| 13 [BO8| 7 A05| 16 36
19 RE MR iR AT A09[ 8 A10[ 6 [BO1| 20 34
19 [FE = AR EENT A05| 16 |A04| 18 34
21 [k A HE AT BO5| 11 |BO1| 20 AT6| 2 33
22 [fkEH = R AT A 2 A04| 18 |AO7]| 12 32
22 [TEF B AT B02| 16 |BO2| 16 32
24 [ D HE AT B02| 16 |BO3| 13 AT4| 2 31
25 KT e A AT A03[ 30 30
25 [HH —i& L ESED A01| 30 30
27 Bl o T FRAT A08[ 15 B12| 2 BOS5| 11 28
28 [RR A# EBAT AO5| 24 B12[ 2 26
28 [lalg —3¢ EMAF BO1| 20 [A10] 6 26
28 [TFEH TBAED BAT BO3| 13 [BO3| 13 26
31T [HF = HE AT B09| 5 [B15| 2 A04| 18 25
31 [EX JELH FRAF CO1| 2 |B04[ 12 [A10] 6 |B09| 5 25
33 [BH %A BARE AT BO3| 13 [BO5| 11 27
34 [BRH 0 AT9| 2 |BO4| 12 |BO6| 9 73
34 [f R 3 oo B04| 12 [BO5| 11 23
36 i =5 .5 Co1| 2 |A10] 6 A06| 14 22
36 [Fe A HAK AO4| 18 |A14] 2 AT3| 2 2
38 (IO TRE = BO4| 12 |BO6| 9 21
39 [BEE =5 B A03| 20 20
39 [fem — & = BO7| 8 |B04| 12 20
39 (IR & EMAT B10| 4 |BO2| 16 20
30 [=ie & BRI BO1| 20 20
30 [Rix Wl ERE AT A03[ 20 20
30 (A & HAKRT A03[ 20 20
45 [l Ihe EBAT A07| 18 18
45 [XEF BA EEE TN A04| 18 18
45 B8 RBAE BAGRE AT BO8| 7 |BO5| 11 18
45 [RT &4 EBAT A11| 2 |B02[ 16 18
49 [lEAR hl SRR EE AR B06| 9 [BO7| 8 17
49 [[hm Bk HAKRE B10| 4 |BO3| 13 17
51 B o BAE A05| 16 16
52 [BaF  FAA AT AO6| 14 14
52 [BA B BARE AT B06| 9 [B09| 5 14
52 [l &Rk [P A06| 14 14
52 |k =41 HE AT A07| 12 [B11] 2 14
56 | KA 2k KREEKRE Bos| 11 [B14] 2 13
56 [BLH L3 RBEEAT BO7| 8 |B09| 5 13
56 |78 & iF FERAT BO3[ 13 13
50 Bl =i HAKRT A09| 12 12
50 [5& i ElZE AT A09| 8 |A12] 2 AT7| 2 12
50 [F8 Hh ERE AT Bo4| 12 12
50 [IF B~ HAKRT B17| 2 A08[ 10 12
50 [FIE A3 Bl AP Co1| 2 A08[ 10 12
50 |70 TBIr BEHEEANT BO4| 12 12
65 [RH_ MA HAKRE Co1| 2 |B08| 7 AT5| 2 K
66 |=H fae BE AT A08[ 10 10
66 [BH % BEAT B11| 2 |BO7| 8 10
66 [HRE &N HAKRE co2[ 1 [B18] 2 BO8| 7 10
69 [N M= FERA T AT0| © 9
69 [BA =L SRR RE A BO6| 9 9
71 |EA =% EEEZ AT coll 2 A15] 2 |B10| 4 8
71 |eR i PN A09[ 8 8
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78 (BN BEA HAKRT B14| 2 [B12] 2 7
78 |[FE =% BARE AT Co1| 2 |B13[ 2 4
78 |[RE =A HE AT B10| 4 4
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86 |28 1w AT A22| 2 2
86 |25 F— BEEAA AT co1| 2 2
86 [NIH A ERE AT B11| 2 2
86 [mA oA SRR EE AR AT1| 2 2
86 [T8k  #AN BARE AT AT3| 2 2
86 [N Hx = EEE T co1| 2 2
86 [BiE o BARE AT co1| 2 2
86 |AH o BHAKRT co1| 2 2
86 Bt fhe ARAF co1| 2 2
86 [P 20 ERE AT AT1| 2 2
86 e ANE ERE AT AT8| 2 2
86 [MA A ERE AT co1l 2 2
86 |[BA the FRAF co1| 2 2
86 [AZE TXAED HE AT B13| 2 2
86 [WIH BT e co1l 2 2
EAIEEREEE PN RALFREA T co1| 2 2
108[EH  mAER FRRF co2[ 1 1
108|EA& B H AT co3l 1 1
108|AE & BN co4| 1 1
108|[BH AH BEAD AT co2[ 1 1
R EEEES HAKRT co2[ 1 1
(S ESIIE BlREZ AT co2[ 1 1
108 WelE EEEE co2[ 1 1
108|EZ &4 BHAKRT co2[ 1 1
108[EH mA HAKRT co2[ 1 1
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